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A2 5.375%0.85+8. 2k4. 147. 425%7. 425/2+ (7. 425+2. 343) ¥5. 081/2
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i _a-;:, - 955
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L - +2. 33340, 129%2/3+2. 329+0. 128%2/3+ (1. 858+1. 850) %0. 081%2/3
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~1.591x0. 045%2/3~1. 648+0. 049+2/3=6. 76t

ZEB K 0.827x0.262/2=0. 11
7.79+6.76-0.11=14. 440t

A2 2.549%1.5+(1.5+1. 616) 1. 281/2+(1. 616+1. 964) *1. 238/2
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DESRHMEZERIY (RSP
(1. 5+2. 128) 2. 851/2+ (2. 128+1. 316) 0. 813/2
+0. 247%0. 495/2-2. 919%0. 157%2/3=6. 33
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BREBK 0.74440.3/2=0. 1nf
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B3  3.675%2+0.405%0.016/2+0. 087*0. 595/2
-0. 601%0. 022+2/3
+(1.509+1. 597) *3. 875/2+0. 031%3. 876+2/3=13. 47t

B4  3.675%240. 405%0. 016/240. 087x0.595/2
-0. 601%0. 022+2/3
+(1.509+1. 597) *3. 875/2+0. 031%3. 876+2/3=13. 47t
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WEERE

A1 (1.7+2.1+1. 825) ¥0. 925=5. 2nrf

A2 (1.7+2.141.825)*0.925=5. 2nf

B3 (0.302+0.719) *2. 875/2+0. 018+2. 905%2/3=1. 5mf

B4 (0.302+0.719) *2. 875/2+0. 018%2. 905%2/3=1. 5mf
G5t 13.4nf
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ABE: 6.42. 25+3. 7543, 4=27. 15nT

B#%: 0.237+0.389/2+ (0. 237+0. 482) ¥0. 596/2
+(0. 482+0. 664) *0. 683/2+ (0. 664+0. 777) %0. 743/2
+(0.777+40. 815) *0. 773/2+(0. 815+0. 777) %0. 773/2
+(0. 77740. 722) %0. 363/2+ (0. 722+0. 664) ¥0. 379/2
+(0. 664+0. 482) 0. 683/2+ (0. 48210. 237) %0. 596/2
+0. 237x0. 389/2+2. 163+6. 368+4. 65%2. 25
+2. 3%4. 6+4. 475%3=51. 85

B5t=79nt
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ARE: 4.7%2. 35+5. 1%2. 45=23. 54m
Bi%: 5.05%2. 45+4. 65%2. 35=23. 3"
S5t=46.84nt
Bak
ARE: (2. 7x6. 42) %2=34. 67t
Bi: 2.7%6. 42+2. 7x9. 389+ (2. 7+2. 161) %0. 539/2
+2. 161%1. 081/2=45. 16m
B&5t=79.83nT
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AKE 1.7%1. 025+0. 75%0. 925
+0. 35%1. 425+1. 3%1. 025=4. 27
B#% 1.9%1.575+0. 425%0. 875
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ﬁ‘ 3,774.07 m—2,538.60 m=1, 235. 47 m
FRo i/ (FHZH G —F— R—FK

—mﬁ‘/ﬁ A f7iE ) x 100%
=1,413.52/ (1,235.47T—0—0—0—0—255.62) x 100%
=1,413.52/979.85 x 100%
=144.26% > 60% (3@ 10-12) ok!

=3,536. 27 x 80% + 237.80 x 60% =2,971.70 m
i ERG /AR G A =2 97170 / 3, TT4. 07=T8. T4%
Ky =k i ff (AFaffi—R7 5 ff)

=2, 538.60, 3, 774.07
=67.26%
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Bzz‘é 3;533 p:"rf?"—?k%*féi‘ Fr =T8.T4% —67.26% =11.48% = 10%
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(1) (10. 009+9. 624) %42, 463/2=416. 838
(D) (7.526%7. 866) +7. 326%0. 906=65. 837
(3) 12. 601%25. 713=324. 0
(©)14. 995%0. 525/2+7. 516%0. 131%2/3%2=5. 249
() (2. 141.178) *4. 079/2+3. 042x1. 258/2=8. 599
(6) 3.292%0. 025%2/3=0. 055
(71)5. 15%12. 882=66. 342
8. 05%0. 425+14. 05%37. 745=533. 739
() 7.15%0. 71+ (21. 12422. 711) ¥30. 6/2=675. 691
0. 498%15. 422%2/3+0. 438%15. 422x2/3+1. 769%30. 641/2=36. 725
(D) 22.711%7. 285/2=82. 725
() 23. 926%6. 381/2+0. 118%7. 512%2/3=76. 927
(1) (3. 844+3. 869) 0. 075/2=0. 289
18. 15%7. 715+18. 245%0. 744/2+ (3. 871+6. 85) %18/2=243. 303
() 9. 163%0. 186%2/3%2=2. 27
A5t =2538.6nf
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